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2, Take a point O inside a pentagon CDE. Join the point O with all its
vertices. In how many triangles will the pentagon be divided ? Name them

3. Draw a quadrilateral. Name the sides, vertices, angles and diagonals of the
quadrilateral.

4. From the following figure, name :
(i) the pairs of adjacent sides. B

(i1) the pairs of opposite sides.
(zii) the pairs of adjacent angles.
(iv) the pairs of opposite angles.
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ASSIGNMENT 8.6

e

1. Multiple Choice Questions (MCQ) Choose the correct option.

(?) In a circle, the area bounded by an arc and two radii joining the centre t

the end-points of the arc is called a

(a) sector (b) segment (¢) arc (d) secant
(i) The radius of a circle of diameter 20.4 c¢m is
(@) 20.4 cm (b) 11.8 cm (c) 10.2 em (d) 5.1 cm
(i) The area bounded by a diameter and the semicircle is called
(@) minor segment (b) major segment
(c) semi-circular region (d) perimeter
D

2. From the adjoining figure, name the following :
(z) Radii

-
(ii) Chords \‘,
(iiz) Diameter

(tv) Triangles whose vertex is the centre of the circle. c
3. A circle with centre I is given alongside. Fill in the blanks :
(z) IM is the of the circle.
(i1) HQ is the of the circle.
(7it) PQ 1is the of the circle.
(iv) PMis an of the circle.
(v) The name of the circumference of the circle is
4. Find the radius of the circle whose diameter is :
(z) 14 cm (Zz) 30 cm (iii) 24 cm (fv) 48 cm
(v) 6 cm (vi) 12 cm (vii) 20 em (viii) 36 cm
(ix) 28 cm (x) 44 cm
5. Find the diameter of the circle whose radius is :
(i) 4 ecm (z7) 18 cm (1) 12 cm (fv) 7 cm
(v) 3cm (vi) 11 cm
6. In a circle with centre O as shown in the R 4
adjoining figure, name :
(i) major segment (if) secant B
(tii) minor segment (iv) major arc G
(v) minor arc
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